Spzrtshall

Primary
25 February 2019

Courtfields

Somerset Level 3 - Large Schools

RED YELLOW GREEN BLUE PINK ORANGE SKY MAROON
Bishop Henderson | Minehead Middle North Petherton | St Joseph’s BOS Holy Trinity St Michaels Oakfield
Girls Boys Girls Boys Girls Boys Girls Boys Girls Boys Girls Boys Girls Boys Girls Boys
Obstacle Relay 10 14 6 6 16 12 12 16 14 10 4 4 8 8
1+ 1 Lap Relay 12 16 8 10 16 12 10 6 4 8 14 14 8 4
2 + 2 Lap Relay 16 16 8 4 6 12 12 14 14 8 10 10 4 6
6 Lap Paarlauf 16 12 10 14 8 6 6 16 14 8 4 4 12 10
Over / Under Relay 14 16 8 8 10 14 16 12 6 4 12 10 4 6
4 x 1 Lap Relay 14 16 16 8 8 10 10 4 12 6 6 14 4 12
Chest Push 12 12 6 4 4 14 10 8 16 16 8 10 14 6
Speed Bounce 14 8 10 14 8 16 16 12 10 8 4 4 12
Standing Long Jump 12 8 14 12 8 16 16 6 14 4 6 10 10
Standing Triple Jump 10 8 12 4 16 10 14 12 6 14 4 6 8 16
Vertical Jump 10 12 14 14 4 10 16 6 8 4 6 16 12 8
Soft Javelin 12 14 6 8 4 14 12 8 14 16 8 4 16 14
Total 152 152 118 106 108 124 150 134 126 118 88 102 104 112
Combined Total 304 224 232 284 244 190 216
Combined Position 1 5 4 7 s 1 7 6
Sportshall of |Points 1300 #NIA #NIA 1395 #N/A 1136 #N/A
Fame Award STEP 7 #N/A #N/A STEP 9 #N/A STEP 6 #N/A
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For more information on the Sportshall pathway go to
www.sportshall.org
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Primary Primary
B Oys Obstacle Relay | 1+ 1 Lap Relay | 2 +2 Lap Relay | 6 Lap Paarlauf OveF:éIL;;der 4x 1 Lap Relay B Oys Chest Push Speed Bounce Stangiunrgp\.ong Stanc‘i]iLTrgn;'riple Vertical Jump Soft Javelin
o £ ]: g ]2 B £ B g |2 g |2 g g s g 3 g s g s g s g 3 g s g 3
s | = |8 2 | 8| 2 |§g € |§g & € |§g ¢ |§s £ |§g ¢ 3 - g8 82| gE Bz|ee | ge|sE Bz|ge| iz sf Bez|gE Bz g B2
£ g | £ g | £ g | £ g ¢ | £ g | £ ¢ | £ g = = =@ =@ =@ L L L
Qé 3 0 0 Q§ 11600 17 | 40 @ 118 | 1.48 498 | 472 134 | 37 | 107 2 39 0 0
[a] o = [a] o = 1
IS:J &3 83.6 25.2 50.8 83.2 70.1 51.6 II-JI:J £33 2 | 5.00 3 49 5 1.50 5 4.78 5 30 3 11 2 0 0
CE S CE j= fr—
? [ 14 [ 16 [ 16 [ 12 [ 16 [ 16 [ o [ o 2|3 ]oeoof 12| 20| 8 |200] 8 |3o0| 8 | 40 [12] 16] 14 [ o [ o
= 2 ° = B ° 1| 475  13.75] 50 135 | 1.74 506 | 535 13.13]| 36 108 13 35 0 0
Q123 |]ess 6 559 % |sazsl 7 |eis 2 28| 2 |s2s| ° 0 0 S B 2450 7 | 46 | 2 |162 3 |34 7 | 30 2 9 5 0 0
d | 2= ' ' ' ' ' ' g |Es |- : :
> | = [ 6 [ 10 [ 4 [ 14 [ 8 [ 8 [ o [ o > |3 3)asof 4 | 30| 14 1o 12 | 436 ] a2 [14] 13| 8 [ o [ o
= 5 3 3 3 6 2 4 0 0 = 5 1 | 6.00 18 39 116 | 1.30  4.88 | 430 13.93]| 39 104 14 39 0 0
b l€5 g |2 |
g c2 85.7 25.6 52.5 86.7 70.8 51.9 w 2 2 ] 550 2 38 6 1.66 7 4.43 4 35 4 9 2 0 0
g5 g |25 |-
& [ 12 [ 12 [ 12 | 6 | 14 | 10 | o | o @ |[s]esof14] s [ 6 Jroo|[ 4 ]s20[10] 30 [10] 16 [14 [0 [0
W » 1 6 2 1 3 7 0 0 w » 1) 475 1525] 47 148 | 1.80 542 | 520 14.01]| 32 99 11 35 0 0
=3 < ol 1
; @ 50l | 834 27.1 51.3 80.3 70.9 56.7 ; @ g0l 2500 5 |50 | 1 164 1 [4220] 3 |34 6|12 5 0 0
(o] o 1
= | 16 | 6 | 14 | 16 [ 12 | 4 | o | o S |[a]sso] 8] 51 [16]1es[16]4c0f12] 3] 6]12]s | o [ o
2 2 11525 19 39 124 | 1.60 5.12 | 470 146 33 88 17 41 0 0
« | £ 4 5 5 5 7 6 0 0 ¥ | £ |
E '; 87.4 26.1 53.1 85.4 74.4 53.7 E '; 2] 750 1 39 4 1.70 2 5.60 2 25 7 10 1 0 0
2 [ 10 [ s [ s [ s [ 4 [ 6 [ o [ o 2 |[s]eas[16] 46 [10]1ee[ 14 a0[ 14 ] 50 [ 4] 14 [16 [ o [ o
w i) w o 1] 500 155 34 114 | 150 49 | 430 132 41 112 10 34 0 0
2 1.9 7 2 4 7 4 2 0 0 2 1. s |
< n g 93.5 25.4 52.9 94.1 72.6 51.7 < ng 2 | 4.00 4 38 7 1.92 6 5.00 6 41 1 11 7 0 0
o4 2 x S| —
o | = [ 4 [ 14 [ 10 [ 4 [ 10 [ 14 [ o [ o]l o] =|ls]esof10] 42| 4 J1as] 6 [300] 6 ] 30 [16] 13] 4 [ o [ o
o o o o o o o o 1 0 0 0 0 0 0 0 0
> > —
& % 2 0 0 0 0 0 0 0 0
| o | o | o | o | o | o [ o | o 3 | o | o | o | o | o [ o [ o [ o
% k) 5 7 6 4 6 3 0 0 % k) 1] 5.00 15 41 126 | 1.64 5.02 | 522 1566| 30 101 15 39 0 0
[} [} 1
Q g 88.3 27.2 53.8 84.5 737 51.8 o g 21475 6 42 3 |18 4 |s522 1 31 5 11 2 0 0
< < 1
= ]° [ 8 [ 4 [ 6 [ 10 [ 6 [ 12 [ o [ o || 51 ° |]|3]s2s] 6 |43 |12 ]1s8] 10522 16] 4 | 8] 13]14 [ o [ o




Spzrtshall

Primary
25 February 2019

Courtfields

Somerset Level 3 - Small Schools

RED YELLOW GREEN BLUE PINK ORANGE SKY MAROON
West Buckland Priorswood Enmore Kingsmore Hambridge Milborne Port Catcott Walton
Girls Boys Girls Boys Girls Boys Girls Boys Girls Boys Girls Boys Girls Boys Girls Boys
Obstacle Relay 10 6 2 2 8 12 16 16 12 16 16 8 4 12 6 4
1+ 1 Lap Relay 14 12 2 6 12 16 4 2 16 12 12 4 8 12 8 14
2 + 2 Lap Relay 16 8 2 6 12 16 14 10 10 14 6 2 8 12 6 4
6 Lap Paarlauf 2 16 4 2 10 14 14 6 12 12 16 10 8 8 6 4
Over / Under Relay 12 4 2 4 14 16 16 14 8 6 12 10 10 8 6
4 x 1 Lap Relay 14 2 2 8 16 10 8 16 14 4 12 6 10 12 4
Chest Push 14 6 12 4 10 16 4 14 2 8 16 12 6 2 8 10
Speed Bounce 16 10 4 4 8 8 10 14 14 16 6 12 2 2 12 6
Standing Long Jump 12 4 4 2 6 14 14 12 16 16 2 8 8 10 10 6
Standing Triple Jump 12 8 2 4 4 14 14 12 16 16 10 6 6 2 8 10
Vertical Jump 6 2 2 6 8 14 16 10 12 16 14 12 10 8 4 6
Soft Javelin 2 2 4 4 12 10 8 8 16 16 14 8 6 12 10 14
Total 130 84 44 44 102 164 140 128 156 164 122 106 82 100 98 88
Combined Total 214 88 266 268 320 228 182 186
Combined Position 5 8 s 1 7 1 4 7 6
Sportshall of |Points #N/A #NIA #NIA #NIA 1406 1152 940 #N/A
Fame Award #N/A #N/A #N/A #N/A STEP 10 STEP 6 #N/A
For more information on the Sportshall pathway go to
www.sportshall.org
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